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NOTE:

e [f alearner answers a question TWICE, only mark the FIRST attempt.

e [f alearner has crossed out (cancelled) an attempt to a question and NOT redone the
solution, mark the crossed out (cancelled) version.

e Consistent accuracy (CA) applies in ALL aspects of the marking guidelines;
however, it stops at the second calculation error.

¢ Rounding is an independent mark.

® General principle of making, if the candidate makes one mistake one mark shall

be deducted.

* A conclusion mark can only be given if relevant calculations precede it.
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Question 1
x=3vorx=2v x=3v
1.1.1 x=2v
(2)
X = —3+/(32-4@(7) , Correct
1.1.2 2@ substitutionv’
_ C3%Ves . e
x=— Simplificationv’
x =127 vorx = =2.77v x =127 v
x=-277v
4)
1.1.3 2’“—22—6:0\/ Standard form v’
x x factorsv’
(22 - 4) 22 + 2)=07 i}
x . 22 = —2 (NJA)Y
2 _ 92 s
22 = 2% or 22 = =2 (N/JA)V =4y
X 2
x = 4v
114 |Bx—7)(x+3) >0V CVsv
Critical values: Methodv’
x=§0rx=—3 x< =37
x>V
7
£ 0 - 0 4+ \ /
- 2 ‘\/ -
7 7
x < -3 vorx> % v
4)
1.2.1 | x =4y —4V Equa...(3)v
y(4y —4) =8 Sub...v’
4y? —4y —8 =0 Sta Formv’
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yi—y—-2=0v Factors v/
-2)y+1) =" y-valuesv’
y=2o0ry=-1v x-values v/
x=4o0rx=—-8v (0)
122 |y=xvory=—xv y=xv
y=-xv
(2)
1.3.1 |36 -4k <0V 36 —4k < 0V
—4k < —36 k>9v
k>9Vv 2)
1.3.1 |2k=0 k=0v
k=0v (1)
[25]
Question 2
211 |3(D)+a=11 a=8v
a=8v h=0v
1+8+b =9 Tn =n?+8nv"
b=0v
Tn=n?+8nv" (3)
2.1.2 | n? + 8n = 240 Sta Formv’
n? + 8n — 240 = 0V Factors v/
(n—12)(n+20) =0V n=12 v
n =12 vorn = -20 (N/A) v n=-20
(N/A) v
4)
221 |3+ (n—1)(—4)=-89v T, = -89+
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n—1=23v Simplification v/
24 terms. 3)
2.2.2 | Negative sequence -1; -5; -9...;-89v -1; -5, -9...;-
n=24—-1=23 89V
sn=2[2(=1) + (23 - D(O)]V Sub... v
= v’
s, = 1495 S, = 1495
3)
2.2.3 | Sequence of terms divisible by 3 3;-9;-21;.. ;-
3;-9;-21;...;-81V 81V
—-81=3-12v(n—-1)v d=-12V
n=6v T,=-81V
n=6v
“4)
[17]
Question 3
31| _2 “1<i<1v
r = 3
3
~1<3i< 1Y
(1)
32 | s, = iz\/ Sub.. v’
1__
’ S =9
=9V
(2)
3.3 3(1—(= Sub S,,...v
Su =8, = 25200, "
T3 =3 Sub S,V
—9v—9c1— (%" Simp v/
=9.—9(1 (3) v p
5 Common
= — ) v
9(1—-1+ (3) factorv’
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2\" N
=9(3) ¥ 9(5)
(5)
[8]
Question 4
4.1 | = Z2xH2¥3 5=2+3V
x-1
_2xi2 3 Common
x-1 x-1 denominator v*
—2(x—-1 3
_ 21 Splitting v
x—1 x—1
3 Factorization v’
=1 2
4)
42 |x=1v x=1v
y = -2V y = -2V
(2)
4. 3 =0V
3 0v = _5 fx)=0
x—1 _ 5\/
3 =3
2 =
x—1 y=-=5
x =2
3
4.4
Y ;
4 : Shape v/
! f Intercepts v’
; 5!/‘ Asymptotes v’
__________ D ?___3_____________
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3
45 |yeRv;y#2V y ERYV
y+2Y
(2)
[15]
Question 5
5.1 | Axis of symmetry: % vi=—1v _3;1 v’
x<—=1vorx>0v =-1v
x<-—-1v
x>0V
4)
52 |q=-1v q=-1v
Sub (1:2) Sub (1:2)v
2=d! — 1V d=3v
d=3v gx) =3*-1v
Lgx) =3 —1v (4)
53 |x=3V-1v Swoping v’
3V =x+1 y=g1kx) =
y =logsz(x + 1)V logs(x + 1)V
(2)
54 |x>—-1vVv x> =1V v (2)
55 | f(x)=alx+3)(x -1V Sub X-
6 =a3)(-1)v interceptsv’
a=-2v Sub C(0;6)v
S fx) ==-2(x+3)(x—1) a=-2v
= —2x2 —4x + 6V —2x% —4x + 6V
a=-2,b= —4,c=6
4)
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5.6
;}: Shape v’
x-intercept v’
TP: (8;-1)V
y-intercepts v*
(8 -1) “4)
v
57 |k>—-6vY k>—-6vv
(2)
[23]
Question 6
6.1.1 | ; =% = 0.025v 0.025v
4
(1)
6.1.2 0.1 \2*47 n=8v

A=5000(1+;/>

A = R6092,01v
A = R6092,01v

3)
6.2.1 | Amount paid for 110 laptops: 6000 x 110 = A = R660 000V Total paid: =
R660 000V
5 v
Depreciation over 5 years: A = 660 000((1 - %) v’ Sub correct F
292 845,51V
= 292 845,51V
. Sub correct Fv'
Inflation : = 660000 (1+—=) v 883 228,881+
A= 883 228,881V Difference:

Copyright reserved Please turnover



Mathematics P1 Marking Guidelines

9

MDE/Aug 2024

NSC
= 883 228,88 — 292 845,51 R590 383,37 v
= R590 383,37V 5
6.2.2 ( m)s“z - Sub... vV
Sinking fund: 590 383,37 = x [ 120%/ 4 = 60V
x =7228,92v j =212 v
12
x =7228,92v
4)
[13]
Question 7
7.1 | f(x+h)=3—-2(x+h)? Sub... v’
=3 — 2(x% + 2hx + h?) Simplification v/
=3 — 2x? — 4xh — 2h? Common factor
. 3—2x2—4hx—2h%—(3-2x2) 4
N }11—13(1) h Y
Sub...h=0v"
— i 3-2x%—4hx—2h*-3+2x? ,
= w50 h —4xv
—4hx—2h?
= lim ————v
R
d (5
= —4x
1 1
7.2.1 y = —x 14 x2v y = —x" 1 4 x2v
1 -2
Y=x"2/+1x_5/ i
2 _
Zxz2v
2
3)
722 _ [8 3° D[ = 2]
*18x5 8x5
—5x7%v
_ -5 _3
X [x 8x]\/ _3s
8
= _5x 6,3/
5x S 3)
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Question 8
81 | f(x)=alx+6)(x+1)(x—2)V Sub x-intercepts v’
24 = a(6)(1)(=2)v Sub(0:24)v
a=-2v a=-2v
f(xX) = =2(x+6)(x+1D(x-2) Simplification v*
= —2(x+6)(x2—x—2) —2x3 —10x? +
= —2(x%—x%—2x—8x —12) 16x + 24V
= —2x3 — 10x% + 16x + 24V &)
~a= —2,b=-10,c =16,d = 24
82 |AtDandE, f'(x) =0 —6x% —20x + 16 =
—6x2 —20x + 16 = 0V 0v’
3x2+10x—8=0 factorsv’
Bx—2)(x+4) =0V x=§0rx=—4/
x = g or x = —4v D(-4; -72)v
f(=4) = —2(—4)3 — 10(—4)2 + 16(—4) + 24 = —72
D(-4; -72)v 4)
83 |—4+p=0,-724+qg=0 p=4v
~p=4vandq =72V q="72v
(2)
8.4 x<—6/or_?5<x<0/orx>2\/ x < =67
Z<x<0v
x>2v
3)
85 |0v<k<72vVV 0v<k<72vv (3)
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“Question 9
9.1 B(x' 4— ﬁ)/\/ x-value v’
’ 4
y-value v/
(2)
9.2 | Area AOBD=3(OD)(DB) Sub correct F v/
3
2 X
=1, (4 _x )/ 2x 5
2 4
x3 x € [0;4]V
=2x—?/x € [0; 4]V
(3)
9.3 | Max Area when 222¢% —0v/ darea
dx dx
2 2
2-Z -9 ¥ _ v
8 8
ﬁ = 2\/ x2 = E\/
8 3
x? =2 x =12 2,3
3 3
X = %§= 2.3 unitsv’ unitsv’
4)
9]
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Question 10
10.1.1 | a = 450v, b =319v,c = 298v,d = 748+ a=450v"
b =319v
c=298v
d =748v
“4)
10.1.2 | P(Female who has not broken a limb) 298V
- 28, M,
1530 765
=9, (2)
765
10.1.3 | P(Female & broken) 0,29V
450 748 913
= ﬁ 1530 1530
5
- 17 Conclusion v
=0,29v
P(Female) x P(Broken a limb)
_ 748 o3
1530 ~ 1530
= 0,29
The events of being female and having broken a limb are ©)
independent.v’
10.2.1 10! v~ — 226 8007 10! v~
21212120 21212121 v
226 800~
3)
1022 | 92~ _ 1, 912! v~
21212121 — 5
226800 21212121
226800
1v°
5
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3)

[15]

TOTAL:

150
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